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  9.07BM                              തൊടുവരകള്‍ - ഉത്തരസൂചിക

ചോദ്യ
നമ്പർ

സൂചിക സ്കോർ

1  a) 900    

 b) √52−32=4സെ .മീ

1

1 2

2
a )   12×3

4
=9സെ .മീ

b )  √9×4=6സെ .മീ

1

1 2

3 a ) 500    

b ) 500

1

1 2
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3
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5  

3 3

6 a )  AR

b ) 12−x

c )  x=8
    
d )  AR=8 സെമീ , BP=4 സെമീ , CQ=6 സെമീ

1

1

1

1

4

7 a )  1400

b )  700

c )  1100

d )  550

1

1

1

1

4

8 a )  900

b )  ∠ ADC=900 ,∠DCE=900 ,∠DAE=900 ,∠ AEC=900

c )  9−4=5 സെ .മീ

d ) 4+9=13 സെ .മീ

e ) √132−52=12 സെ .മീ

1

1

1

1

1
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